
HCS06FB10 Installation Guide
Honda Civic Sedan 2006 - Up (Does Not Fit Coupe)
(Unloaded/Loaded/Amplified)

STEP 1: STEP 2:

Empty out the trunk of the car so that you have a clean area 
to work in.

Remove the trunk floor and three clips that hold the trunk 
liner in place. Using an 8mm (11⁄32") drill bit, drill a hole in the 
center of the floor rib as shown. Note: Make sure not to 
drill into gas lines, brake lines, tires, transmissions lines, 
electrical wiring, or any other important components.

STEP 3: STEP 4:

Using a razor knife, cut an “X” in the trunk liner over the 
hole drilled in the previous step. Peel the liner up and away 
from the hole. 

Note the location of the upper clip hole. This will be used 
later for the ThunderForm® installation.

STEP 5: STEP 6:

Attach the bracket to the back of the ThunderForm® using 
an 6mm flat washer, 6mm lock washer, and M6-1.00 x 22 bolt 
as shown. Hand tighten.

Remove the woofer from the ThunderForm® if loaded. Insert 
the M8-1.25 x 35 bolt , with a large flat washer, into the hole 
in the bottom of the enclosure. 



HCS06FB10 Installation Guide
Honda Civic Sedan 2006 - Up (Does Not Fit Coupe)
(Unloaded/Loaded/Amplified)

WARRANTY:
Amplified and Loaded ThunderForm Enclosures purchased in the USA from an authorized MTX dealer are guaranteed against defects in material and workmanship for a period of five (5) years, 
two (2) years full replacement plus three (3) years prorated. Unloaded ThunderForm Enclosures purchased in the USA from an authorized MTX dealer are guaranteed against defects in material 
and workmanship for a period of 30 days. The warranty period begins the day the product is purchased by the end user and is limited to the original retail purchaser.

Product found to be defective during that period will be repaired or replaced by MTX at no charge. This warranty is void if it is determined that unauthorized parties have attempted repairs or 
alterations of any nature. Warranty does not extend to cosmetics or finish. Before presuming a defect is present in the product, be certain that all related equipment and wiring is functioning 
properly. MTX disclaims any liability for other incurred damages resulting from product defects. Any expenses in the removal or re-installation of products are not covered by this warranty. 
MTX’s total liability will not exceed the purchase price of the product. If a defect is present, your authorized MTX dealer may be able to effect repairs.

Proof of purchase is required when requesting service, so please retain your sales receipt, and take a moment to register your product online at mtx.com. Also, a Return Authorization number 
(RA) is required before shipping product back to MTX. Call 800-556-2888 or 608-328-5560 for speaker RAs.

STEP 8:STEP 7:

From under the vehicle, place a large flat washer and  
M8-1.25 locking hex nut on the M8-1.25 x 30 bolt and tighten 
firmly.

Place the ThunderForm® into position, allowing the M8 bolt 
to go through the hole drilled in Step 2 and align the bracket 
with the upper clip hole. Once aligned, tilt the enclosure 
forward and firmly tighten the bracket to the back of the 
ThunderForm®. Place the M8 body bolt through the bracket 
and into the upper clip hole from Step 4, and tighten firmly. 
Reinstall the trunk floor.

MTX004678 RevA 7/13 21A10024

©2013 Mitek Corporation. All rights reserved. MTX and ThunderForm are a trademarks of Mitek Corporation. 
Due to continual product development, all specifications are subject to change without notice.

ThunderForm® Wall

Vehicle Sheet MetalLarge Flat Washer

M8-1.25 x 30 Bolt
M8-1.25 Locking Hex Nut

STEP 9:

Reinstall the woofer if loaded. You have completed the 
installation for this model. Enjoy your new ThunderForm®. 


